
SCHOOL OF MANAGEMENT, GSFC UNIVERSITY

SAMPLE QUESTION - UMAT

Instructions:

The UMAT exam pattern 2023 comprises General Awareness (GA), Verbal Ability
(VA), Quantitative Reasoning (QR), Verbal Reasoning (VR), and Non-Verbal
Reasoning (VR) The sections and subjects included in the UMAT entrance exam are
outlined in the following section. There will not be any negative marking

Sections Domain No. of
Questions Marks

A General Awareness
(GA) 10 10

B Verbal Ability (VR) 10 10

C Quantitative
Reasoning (QR) 10 10

D Verbal Reasoning
(VA) 10 10

E Non-Verbal
Reasoning 10 10

Total Marks 50 50
Total Duration 2 hours



GENERAL AWARENESS (GA)

1. In which year AMUL was founded?

A. 1955
B. 1950
C. 1945
D. 1946

Answer D

2. Which Indian State has become the first “kerosene free state” after the sale of
subsidized cooking and lightening fuel has been stopped there?

A. Surat
B. Delhi
C. Chandigarh
D. Chennai

Answer C

3. The first rice straw power plant has been set up at

A. Kolkata
B. Assam
C. Haryana
D. Punjab

Answer D

4. Bull fighting is the national game of—

A. Italy
B. Poland
C. Spain
D. Sudan

Answer C

5. Choose which is the exact opposite of the given word_DISPARGE

A. Please
B. Denigrade
C. Praise
D. Belittle

Answer C



VERBAL ABILITY (VA)

1. I am angry with him ------ his carelessness.

A. on
B. of
C. with
D. For

Answer D

2. Entomology is the science that studies

A. Behavior of human beings
B. Insects
C. Physiology or Medicine
D. Literature, Peace and Economics

Answer B

3. Give example pertinent --------- the case.

A. to
B. on
C. for
D. With

Answer A

4. Identify the figure of speech used in the following sentence:
"Her voice was music to his ears."

A. Simile
B. Metaphor
C. Personification
D. Hyperbole

Answer B

5. Choose the word which best expresses the meaning of the given word EMBEZZLE.

A. Simile
B. Metaphor
C. Personification
D. Hyperbole

Answer A



QUANTITIVE REASONING (QA)

1. A man ate 100 bananas in five days, each day eating 6 more than the previous day.
How many bananas did he eat on the first day?

A. 5
B. 6
C. 7
D. 8
Answer D

2. Raghav is twice as old as Vijay and half as old as Suresh .If sum of Suresh’s and
Vijay’s age is 85 years what is the Raghav’s age in Years?

A. 33
B. 34
C. 35
D. 36

Answer B

3. Two train travel in opposite direction one at 30 kmph and the other at 42 kmph. A
man sitting in the slower train passes the faster train in 6s. what is the length of the
faster train?

A. 110m
B. 112m
C. 115m
D. 120m

Answer D

4. A person sold a stove for Rs. 423 and incurred a loss of 6%. At what price would it
be sold so as to earn a profit of 8%?
A. Rs. 550
B. Rs. 500
C. Rs. 486
D. Rs. 450

Answer C

6. Ramesh sold a statue for a price 25% higher than the original price of the statue. He
had however bought the statue at 20% discount on the original price. With the profit
of Rs. 2025, find the original price of the statue.

E. Rs. 6000
F. Rs. 7500
G. Rs. 8000
H. Rs. 4500
Answer D



VERBAL REASONING (VR)

1. In a code language SINGER is written as AIBCED then GINGER will be written in
the same code as—
A. CBIECD
B. CIBCED
C. CBICED
D. CIBECD

Answer B

2. BCB, DED, FGF, HIH, ___

A. JHK
B. JKJ
C. IJI
D. HJH

Answer B

3. Statement and Inference:
Read the statement and select the correct inference:
Statement: The stock market crashed, causing significant losses to investors.
Inference: All investors have incurred losses due to the stock market crash.

A. True
B. False
C. Uncertain
D. Not related

Answer B

4. P is 60 m South-East of Q. R is 60 m North-East of Q. Then R is in which direction
of P ?

A. North
B. North-East
C. South
D. South-East

Answer A

5. Look at this series: 53, 53, 40, 40, 27, 27, ... What number should come next?

A. 12
B. 14
C. 28
D. 30
Answer B



NON-VERBAL REASONINING

Direction (1-3). Out of the given answer figures, which is the correct one to
replace the question mark?

1.

Answer D

2.

Answer B



3.

Answer A

4.Identify the figure that completes the pattern.

X (A) (B) (C) (D)

Answer D

5.Find the number of triangles.

A. 12
B. 14
C. 36
D. 30

Answer C


